
A

A
5

11

16

19 4

1.
75

0

 7.3760±.0010 

SLIP FIT FOR 
.375 DOWEL

2X

NOTES:
MAX PRESSURE 2800 PSI.1.
APROXIMATE RADIAL GRIP FORCE = 2.89 X 2.
PRESSURE.
ITEMS IN HEX BALLOONS ARE INCLUDED IN THE 3.
STD. REPAIR KIT 65-0228.

1

6

19

2 3

2.500

2.
87

6

1.
43

8

1.250

7.376

3.688

2.5000±.0005 2.5000±.0005

COLLET LOCKING
SCREW, 3X

5/16 S.H.C.S. MOUNTING
HOLE, 4X

3.50

1.
62

42.
34

3

1.031

SECTION A-A

8

7

10

14

14

9

13

1

19

4

18

14

12

8.00

3.
31

3.375

4.625

1.
81

2

2.
53

1

SAE-4 PORTS
2X

CONNECTOR BUSHING
PORTS, 12X

2 3

ITEM NO. PART 
NUMBER DESCRIPTION QTY.

1 01-0094 SCREW, SET, SH, 1/4-20 X .38 3
2 01-2046-8 SCREW, SHC, 5/16-18 X 1.50 7

3 01-2059 WASHER, LOCK, STEEL, 5/16 
BLOX 7

4 01-2341 SCREW, SHC, 1/4-28 X 3.00 3
5 01-2342 PIN, DOWEL, .25 X .63 2
6 01-2357 SCREW, SHC, #10-24 X .75 NYLOK 6
7 04-01-138 O-RING, BUNA, -138 3
8 04-01-223 O-RING, BUNA 70, -223 3
9 04-01-224 O-RING, BUNA, -224 3

10 04-01-226 O-RING, BUNA, -226 3
11 04-01-902 O-RING, BUNA, -902 12
12 04-31-223 BACK-UP RING, PARBAK #223 3
13 04-31-224 BACK-UP RING, PARBAK #224 3
14 04-31-226 BACK-UP RING, PARBAK #226 6
15 65-0058-1 PISTON 3
16 65-0065 PLUG, PRESSURE, CC 12
17 65-0131 BASE 1
18 65-0132 BODY 1
19 65-0133 NUT, COLLET 3

Lexair, Inc.
2025 Mercer RD, Lexington, Kentucky  40511

TH
IS

 D
O

C
UM

EN
T 

A
N

D
 IT

S 
C

O
N

TE
N

TS
 A

RE
 T

HE
 P

RO
PE

RT
Y 

O
F 

LE
XA

IR
, I

N
C

.  
TH

EY
 A

RE
 F

UR
N

IS
HE

D
 T

O
 Y

O
U 

O
N

 T
HE

 F
O

LL
O

W
IN

G
 C

O
N

D
ITI

O
N

S:
 

N
O

 R
IG

HT
 O

R 
LIC

EN
SE

 IN
 R

ES
PE

C
T 

O
F 

TH
IS

 D
O

C
UM

EN
T 

O
R 

ITS
 C

O
N

TE
N

TS
 IS

 G
IV

EN
 O

R 
W

A
IV

ED
 IN

 S
UP

PL
YI

N
G

 T
HE

 D
O

C
UM

EN
T 

TO
 Y

O
U.

   
TH

IS
 D

O
C

UM
EN

T 
O

R 
ITS

 C
O

N
TE

N
TS

 A
RE

 N
O

T 
TO

 B
E 

US
ED

 O
R 

TR
EA

TE
D

 IN
 A

N
Y 

M
A

N
N

ER
 IN

C
O

N
SI

ST
EN

T 
W

ITH
 T

HE
 R

IG
HT

S 
O

F 
LE

XA
IR

, I
N

C
. 

O
R 

TO
 IT

S 
D

ET
RI

M
EN

T 
A

N
D

 A
RE

 N
O

T 
TO

 B
E 

C
O

PI
ED

, R
EP

RO
D

UC
ED

. O
R 

D
IS

C
LO

SE
D

 O
F,

 E
XC

EP
T 

W
ITH

 IT
S 

PR
IO

R 
W

RI
TT

EN
 C

O
N

SE
N

T.

DEC   .00
DEC   .000
FRACTIONAL
ANGLES 

 .015"
 .005"
 1/64"
 1/2

 .030"
 .010"
 1/32"
 1

Tolerances Unless Otherwise Specified:
TYPE                   FINISHED                AS CAST

MATERIAL SPEC.

PROCESS SPEC.

PC. NO.:

MADE FROM:

SHEET NO.

SCALE

APPROX. WT.

RE
VI

SI
O

NS

SHEETSDRAWN CHECKED APRVD.

CAD FILE:

D 65401
65401.slddrw

1 of 1

1:1

SEE B.O.M.

65401

MBR

12-13-04

TRI-GRIP COLLET CLOSER, 5C, ASS'Y.

 

 

D65401

EC
L:

  0
42

41
 1

2-
13

-0
4 

M
BR

MODEL FILE: 65401.SLDASM
FINISH 175 µ in. 

 LEXAIR

JDR TPO

12-13-04 12-13-04A
EC

L-
17

03
0:

 C
H

AN
G

ED
 P

SI
M

AX
 F

R
O

M
 5

00
0 

TO
 2

80
0

B
EC

L-
17

04
6:

 A
D

D
ED

 T
H

E 
N

EW
 T

R
I-G

R
IP

 L
O

G
O

10.442 LBS


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Section View A-A
	Drawing View6
	Drawing View9


